
Shortcut Integral Formulas 

Rule  
(where k is a constant) 

 

Example 

 

∫ 𝑒𝑘𝑥𝑑𝑥 =
𝑒𝑘𝑥

𝑘
+ 𝐶 

 

 

∫ 𝑒2𝑥𝑑𝑥 =
𝑒2𝑥

2
+ 𝐶 

 

 

∫ 𝑠𝑖𝑛(𝑘𝑥)𝑑𝑥 =
−𝑐𝑜𝑠(𝑘𝑥)

𝑘
+ 𝐶 

 

 

∫ 𝑠𝑖𝑛(3𝑥)𝑑𝑥 =
−𝑐𝑜𝑠(3𝑥)

3
+ 𝐶 

 

 

∫ 𝑐𝑜𝑠(𝑘𝑥)𝑑𝑥 =
𝑠𝑖𝑛(𝑘𝑥)

𝑘
+ 𝐶 

 

 

∫ 𝑐𝑜𝑠(5𝑥)𝑑𝑥 =
𝑠𝑖𝑛(5𝑥)

5
+ 𝐶 

 

 

∫ 𝑠𝑒𝑐2(𝑘𝑥)𝑑𝑥 =
𝑡𝑎𝑛(𝑘𝑥)

𝑘
+ 𝐶 

 

 

∫ 𝑠𝑒𝑐2(4𝑥)𝑑𝑥 =
𝑡𝑎𝑛(4𝑥)

4
+ 𝐶 

 

 

∫ 𝑐𝑠𝑐2(2𝑥)𝑑𝑥 =
−𝑐𝑜𝑡(𝑘𝑥)

𝑘
+ 𝐶    

 

 

∫ 𝑐𝑠𝑐2(2𝑥)𝑑𝑥 =
−𝑐𝑜𝑡(2𝑥)

2
+ 𝐶    

 

 

∫(𝑘1𝑥 + 𝑘2)𝑛𝑑𝑥 =
1

𝑘1

(𝑘1𝑥 + 𝑘2)𝑛+1

𝑛 + 1
 + 𝐶 

 

 

 

∫(2𝑥 + 3)7𝑑𝑥 =
1

2

(2𝑥 + 3)8

8
 + 𝐶 

 

=
(2𝑥 + 3)8

16
+ 𝐶 

 

 

∫
𝑢′

𝑢
= 𝑙𝑛|𝑢| + 𝐶 

 

∫
𝑥 + 1

𝑥2 + 2𝑥 + 1
𝑑𝑥 =

1

2
∫

2(𝑥 + 1)

𝑥2 + 2𝑥 + 1
𝑑𝑥  

 

=
1

2
𝑙𝑛|𝑥2 + 2𝑥 + 1| + 𝐶 

 

 


